VILLAGE OF BRADLEY

RESOLUTION NO. <u>R-0425-03</u>

A RESOLUTION APPROVING THE PURCHASE OF EQUIPMENT FOR THREE NEW POLICE VEHICLES FOR THE POLICE DEPARTMENT

ADOPTED BY THE BOARD OF TRUSTEES OF THE VILLAGE OF BRADLEY

THIS 14th DAY OF April , 2025

Published in pamphlet form by the authority of the Board of Trustees of the Village of Bradley, Kankakee County, Illinois this Light day of 2025

RESOLUTION NO. R-04-2503

A RESOLUTION APPROVING THE PURCHASE OF EQUIPMENT FOR THREE NEW POLICE VEHICLES FOR THE POLICE DEPARTMENT

WHEREAS, the Corporate Authorities of the Village of Bradley, Kankakee County, Illinois, have the authority to adopt resolutions and to promulgate rules and regulations that pertain to its government and affairs and protect the public health, safety, and welfare of its citizens; and

WHEREAS, pursuant to Section 2-3-8 of the Illinois Municipal Code (65 ILCS 5/2-3-8), the Corporate Authorities of the Village are authorized to enter into contracts that support and advance the legitimate public purposes of the Village; and

WHEREAS, the Corporate Authorities of the Village have determined that it is necessary, expedient, and in the best interests of the Village and its citizens to purchase the equipment for 3 new police vehicles to be utilized within the police department; and

WHEREAS, Edwards Uplifting of Fairbury an Illinois corporation (collectively the "Company"), that is in the business of uplifting police vehicles; and

WHEREAS, the Company has agreed to sell the Village the uplifting equipment for the three new police vehicles, a copy of the purchase documents which is attached hereto as Exhibit A and fully incorporated herein, in which the Company offers to sell the equipment for the vehicles in exchange for total consideration thirty-three thousand four hundred seventy-four and 00/100 dollars (\$33,474.00); and

WHEREAS, the Corporate Authorities of the Village have reviewed the Proposal and have determined that the terms, conditions, and provisions thereof are fair, reasonable, and acceptable to the Village; and

WHEREAS, the Corporate Authorities of the Village have determined that approving the Proposal in an amount not to exceed thirty-three thousand four hundred seventy-four and 00/100 dollars (\$33,474.00) is in the best interests of the Village and its citizens; and

WHEREAS, the Corporate Authorities of the Village have further determined, by the affirmative vote of two-thirds (2/3) of all Village Trustees presently holding office, that it is necessary, expedient, and in the best interests of the Village and its citizens to waive any and all competitive bidding requirements that might otherwise be applicable to the Proposal.

NOW THEREFORE, BE IT RESOLVED BY THE CORPORATE AUTHORITIES OF THE VILLAGE OF BRADLEY, KANKAKEE COUNTY, ILLINOIS, PURSUANT TO ITS STATUTORY AUTHORITY, AS FOLLOWS:

SECTION 1. The Corporate Authorities hereby find that all of the recitals contained in the preamble to this Resolution are true, correct, and complete and are hereby incorporated by reference hereto and made a part hereof.

- SECTION 2. The Corporate Authorities of the Village hereby find and declare that the terms, conditions, and provisions of the Proposal are fair, reasonable, and acceptable to the Village. Therefore, the Corporate Authorities of the Village hereby approve the Proposal in an amount not to exceed thirty-three thousand four hundred seventy-four and 00/100 dollars (\$33,474.00) and direct the Village's Police Chief to undertake any and all actions, including without limitation the execution and delivery of the equipment.
- SECTION 3. The Corporate Authorities of the Village hereby, by the affirmative vote of two-thirds (2/3) of all Village Trustees presently holding office, waive any and all competitive bidding requirements that might otherwise be applicable to the purchase.
- <u>SECTION 4.</u> In the event that any provision or provisions, portion or portions, or clause or clauses of this Resolution shall be declared to be invalid or unenforceable by a Court of competent jurisdiction, such adjudication shall in no way affect or impair the validity or enforceability of any of the remaining provisions, portions, or clauses of this Resolution that may be given effect without such invalid or unenforceable provision or provisions, portion or portions, or clause or clauses.
- <u>SECTION 5.</u> All ordinances, resolutions, motions, or parts thereof, conflicting with any of the provisions of this Resolution, are hereby repealed to the extent of the conflict.
- **SECTION 6.** The Village Clerk is hereby directed to publish this Resolution in pamphlet form.
- SECTION 7. This Resolution shall be in full force and effect from and after its passage, approval, and publication in pamphlet form as provided by law.

[Intentionally Blank]

PASSED by the Board of Trus	stees on a roll call vote on the 14th day of April, 2025.
TRUSTEES:	
RYAN LEBRAN BRIAN BILLINGSLEY DARREN WESTPHAL BRIAN TIERI GRANT D. VANDENHOUT GENE JORDAN	Aye
VILLAGE PRESIDENT:	
	Aye – Absent –
TOTALS:	Aye - Way - O Absent - O
ATTEST: KELLI BRZA, VILLAGE CL APPROVED this //// day	of Michael Watson, VILLAGE PRESIDENT
ATTEST: Selli KELLI BRZA, VIII LAGE CL	PRK

STATE OF ILLINOIS)	
)	§§
COUNTY OF KANKAKEE)	

I, Kelli Brza, Village Clerk of the Village of Bradley, County of Kankakee and State of Illinois, DO HEREBY CERTIFY that the attached is a true, perfect, and complete copy of Resolution number 2-6435-63, "A RESOLUTION APPROVING THE PURCHASE OF TWO FORD ESCAPES FOR THE POLICE DEPARTMENT" which was adopted by the Village Corporate Authorities at a meeting held on the 4th day of 400.

IN WITNESS WHEREOF, I have hereunto set my hand in the Village of Bradley, County of Kankakee and State of Illinois, on this 14th day of 12025.

KELLI BRZA, VILLAGE CLERK

Exhibit A



Outcome:

Agenda Cover Memorandum

Meeting Date:	April 14th, 2025				Internal Review		
Fiscal Year:	FY2024-25			Initials			
Agenda Item:	Purchase of	of Police D	epartment	Equipment	t		Date
<u>Item Type:</u>	Ordina	nce	x Resolutio	on	☐ Other	ļ	
Action Requested:	□ Approval		⊠ First Re	ading	\square For Discussion		Informational
Staff Contact:	Name:	Chief Do	nald Barber				
	Phone:	815-936	-5115				
	Email:	dbarber	@bradleyil.c	org			
Brief Summary: The Village of Bradley Police Department is in the process of purchasing new vehicles in the upcoming budget. This move requires us to purchase new equipment to uplift the new vehicles and the equipment needs to be ordered as soon as possible so to not delay any installation once the new vehicles arrive. The Police Department has attached the equipment needed. The attached Equipment list includes the manufacturer and models. . Recommendation: The recommendation is that an resolution authorizing the purchase of the equipment be drafted, reviewed and adopted.							
Supporting Documer FY2024-25 Equipmer Financial (if applicable	nt Memora	ndum			e e		
Is this a budgeted its	em?	Yes	⊠ No	☐ Requi	es Budget Amendm	ent	
Line Item:				Title:			
Amount Budgeted:							
Actual Cost:							



2025 Tahoe x3 project

Edwards Upfitting 19682 East 1250 North Road Fairbury, Illinois 61739 United States

Mobile: 309-333-6691

Items	Quantity_	Price	Amount	
425-0023 Rear Mounted, Adjustable Armrest	3	\$60.00	\$180.00	
Hardware Hardware for installation of equipment (wiring, connectors, screws, bolts, nuts, bushings, etc.)	3	\$150.00	\$450.00	
Installation charges	3	\$2,400.00	\$7,200.00	
Shipping Determined upon order	1	\$0.00	\$0.00	
		Total:	\$33,474.00	
		Estimate Total (USD):	\$33,474.00	

Notes / Terms

Estimates provided are an approximation of the cost for the services requested. It is possible for unexpected complications to arise which may cause deviation from the original estimate. By accepting this estimate, you authorize the work described, along with the procurement of material(s) and operation of the vehicle for testing purposes. If additional work or part(s) are required, a new estimate will be prepared, outlining the additional work and cost. All parts are new and carry the full manufacturer warranty while installed on the original vehicle, unless otherwise specified. Five year warranty on workmanship while vehicle is owned by above customer. No warranty supplied by Edwards Upfitting for customer supplied or used parts. To accept this estimate, please sign and return. Thank you!

Signa				
SIMMA	TITO			

Thank you for the opportunity to earn your business. I look forward to working together.



2025 Tahoe x3 project

Edwards Upfitting 19682 East 1250 North Road Fairbury, Illinois 61739 United States

Mobile: 309-333-6691

		THE PARTY OF THE P	or and Cambridge Control of Cambridge
Items	Quantity	Price	Amount
ENGSYMD01	3	\$245.00	\$735.00
bluePRINT Sync® Module, includes GPS Antenna,			
ECE R10 Certified			
MMSU-1	3	\$35.00	\$105.00
Magnetic Mic mount			
BMAX7603S	3	\$45.00	\$135.00
PCTEL 760-870MHz, 3dB, open coil antenna w/			
spring, black			
475-1677	3	\$670.00	\$2,010.00
Chevy Tahoe (2021+) UDRH Vehicle Partition			
Featuring Unidirectional Recessed Housing (HS/HV			
Window Option)			
475-1679	3	\$96.00	\$288.00
High Security Extension Panel for Chevy Tahoe			
(2021+) UDRH Vehicle Partition - Two Piece Steel			
HSEP			
475-1743	3	\$1,295.00	\$3,885.00
Replacement Bio-Seat and Rear Cargo Partition			
System for Chevy Tahoe (2021+)			
475-1718	3	\$225.00	\$675.00
Tahoe (2021+) Window Armor - Vertical (OEM or			
ABS Doors)			
425-6735	3 -	\$600.00	\$1,800.00
(2025+) Chevy Tahoe Contour Console with			
Locking Lid Storage. Includes all necessary			
equipment faceplates			
425-6729	3	\$45.00	\$135.00
ABS Dual Cup Holder Faceplate Mount (4")			



2025 Tahoe x3 project

Edwards Upfitting 19682 East 1250 North Road

Fairbury, Illinois 61739 United States

Mobile: 309-333-6691

Items	Quantity	Price	Amount
ETSSVBK07 100J/100U Series Speaker Bracket (no drill) capable of holding up to two speakers for Chevrolet Tahoe Pursuit & Civilian Vehicles 2021 - 2024, Hood Latch Mount	3	\$35.00	\$105.00
PMP2BKUMB5-D Under Mirror Mount Bracket Kit (each) for installation on Chevrolet Tahoe Police Pursuit & Civilian Vehicles 2021-2024 for use with mpower® 3" and 4" Stud or Quick Mount and Intersector Surface Mount, Driver Side	3	\$26.00	\$78.00
PMP2BKUMB5-P Under Mirror Mount Bracket Kit (each) for installation on Chevrolet Tahoe Police Pursuit & Civilian Vehicles 2021-2024 for use with mpower® 3" and 4" Stud or Quick Mount and Intersector Surface Mount, Passenger Side	3	\$26.00	\$78.00
EMPS1QMS4RBW mpower® 3" Fascia Light w/ Quick Mount, 18" hard wire w/ sync option, Black Housing, 12 LED, Tricolor - Red/Blue/White	18	\$120.00	\$2,160.00
For rear D-pillar lighting EMPS2STS5RBW mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White	24	\$130.00	\$3,120.00
For side, front and rear lighting			
PMP2WSSSB Window Shroud Kit for 4" Light w/ Stud Mount - Black	6	\$15.00	\$90.00



2025 Tahoe x3 project

Edwards Upfitting 19682 East 1250 North Road Fairbury, Illinois 61739 United States

Mobile: 309-333-6691

BILL TO

Village of Bradley Police Chief Don Barber 147 S. Michigan Bradley, Illinois 60915 United States

815-932-2125 dbarber@bradleyil.org Estimate Number: 57

Estimate Date: March 21, 2025

Valid Until: April 20, 2025

Estimate Total (USD): \$33,474.00

60			建工会社会		i
	Items	Quantity	Price	Amount	
	ENULB010SG-3LF nFUSE 54" 9-32 VOLT NFUSE LED LIGHTBAR W/ 15' LIN DSC TECHNOLOGY, dual color, redwhi, blue/whi with arrow to rear. Includes pursuit rated hook and foot kit.	3	\$1,880.00	\$5,640.00	
	PMP1BK003 D-Pillar Wedge Kit (six wedges) for Chevrolet Tahoe 2021-2025, compatible with 3" mpower® Quick Mount Fascia Lights	3	\$60.00	\$180.00	
	ENGSA5200RSP Soundoff Signal bluePRINT 500 Series remote control system w/ button control 200 watt, dual tone	3	\$900.00	\$2,700.00	
	ENGLMK001 bluePRINT Link® Micro Kit, includes Module and Vehicle Harness for Chevrolet Tahoe 2022-2025, Silverado 1500 2025	3	\$350.00	\$1,050.00	
	ETSS100J5 Soundoff Signal speaker, 100W, 5yr	3	\$225.00	\$675.00	